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Determine whether the parallelogram is a rhombus, rectangle, square, or 4 See Problem 2.
none. Explain.

8. P(—1,2),0(0,0), S(4,0), 7(3, 2)
10. R(—2, —3), (4, 0), (3, 2), (-3, —1)
12. W(-3,0), 1(0, 3), N(3, 0), D(0, —3)

9. I(1,2), M(3,3), N(5,2), P(3,1)
11. G(0, 0), H(6,0), 1(9, 1), J(3, 1)
13. (1, 3), P(4, 4), A(3,1), T(0, 0)
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Graph and label each quadrilateral with the given vertices. Then determine the
most precise name for each quadrilateral.

21. P(—5,0), Q(~3,2), R(3,2), S(5,0) 22. 5(0,0), T(4, 0), U(3,2), V(—1,2)
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45. K(—3,0),1(0, 2), and 7(3, 0) are three vertices of a kite. Which point could be the
fourth vertex?

CAD E(0,5) B> E(0,0) < E(0,-2) <b> E(0, —10)
46. In the diagram, lines ¢ and m are parallel. What is the value of x? 1552
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